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0 Christmas Addition or Subtraction

Solve the following word problems.

Santa Claus bought 4.5 pounds of candies and 3.2
pounds of chocolates for Christmas. How many
pounds of sweets did Santa Claus buy in total?

On Christmas Eve, a family consumed 6.7 gallons
of eggnog. They had initially bought 10.0 gallons.
How much eggnog is left?

Rudolph ate 2.1 pounds of carrots and Dasher ate
1.5 pounds. How much did they eat in total?

The Christmas tree is 7.9 feet tall. The star on the
top is 0.6 feet tall. What is the total height?

The Grinch got 5.4 pounds of Christmas presents.
He then got another 2.3 pounds. How much did the
Grinch steal in total?

A family baked 9.6 pounds of cookies for
Christmas. They ate 2.5 pounds on Christmas Eve.
How much is left?

A Christmas store sold 8.3 pounds of ornaments on
the first day and 7.2 pounds on the second day.
How much did they sell in total?

8 Santa’s sack can hold 10.0 pounds of presents. He
has already packed 4.7 pounds. How much more

ian he pack?
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